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1. 	The length of a cell structure on a drawing is 6mm under magnification of x 600. Its actual length is.
A. 1 x 10-1µm
B. 1 x 10oµm
C. 1 x 101µm
D. 1 x 102µm

2.	Competitive enzyme inhibitors
A. Bind permanently to the active site
B. Change the shape of the active  site
C. Limit formation of enzyme-substrate complexes.
D. Lower activation energy of the reaction.

3.	Which of these structures contains genetic material that has telomeres?
A. Bacterial cell
B. Chloroplast
C. Mitochondria
D. Nucleus.

4.	DNA polymerase in a cell synthesizes.
A. A polypeptide using DNA as a template
B. A strand of DNA using a polypeptide as a template
C. A strand of  DNA using DNA as a template
D. A strand of mRNA using DNA as a template

5.	21.2% of the bases in a molecule of DNA are cytosine what percentage would be 	adenine?
A. 21.2%
B. 28.8%
C. 42.4%
D. 57.6%
6.	Which reaction takes place at a higher rate in an  alveolus than active muscle?
1. Carbondioxide  +  water 		carbonic acid
2. Carbondioxide  + haemoglobin 		carboxyhaemoglobin
3. Heamoglobin  +  hydrogenions		haemoglobinic acid
4. Hydrogen carbonate ions  + hydrogen ions 		carbondioxide +water
A. 1 and  2
B. 3 and 4
C. 1 only
D. 4 only




7.	The graph shows changes that take place in the volume of the left ventricle during one cardiac cycle. Which point on the graph represents the start of atrial systole?
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8.	Which  row correctly identifies the roles of B-lymphocytes and T-Lymphocytes?
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	Secrete cytokines
	Provide humoral immunity
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9.	Haemoglobin is a globular protein because it has?
		A. 	four cross linked polypeptide chains making a quaternery structure.
		B.	hydrophobic group on the inside and hydrophilic one on the outside.
		C.	Hydrophobic interactions.
		D.	Cross linked polypeptide chains which form sheets.

10.	Some soil borne fungi cause wilting in crop plants by growing within the xylem vessels. 	Which process is directly affected by the fungi?
A. Cohesion  between water molecules.
B. Development of root pressure
C. Mass flow during  translocation
D. Uptake of water by root hair cells

11.	In a DNA molecule, the base AGT codes for the amino acid serine. The base sequence of 	the anti-cordon on the tRNA to which serine becomes attached is ?
A. AGU
B. GAU
C. TCA
D. UCA


12.	The minimum number of base substitutions required to change the nucleotide sequence of the HbA (Normal) allele to the Hbs (suckle cell) allele is.
A. 1
B. 2
C. 3
D. 4
13.	The enzyme lysozyme secreted from tear glands forms deposits on contact lenses. Which of the following would best clean the deposits?
A. Ethanol
B. Lysosomes
C. PH buffers
D. Proteases.
14.	Which diagram represents part of the ring form of a molecule  of B-glucose?
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15.	The trace represents the electrical activity of the heart during  a single heart beat?
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Which letters identify the flow of current through the atria and the recovery of the ventricle walls?	
A. P and R
B. P and T
C. Q and R
D. Q and  S
16.		Which of these cells contains the highest proportion of single membrane –bound structures?
A.  ciliated epithelial cell
B. Goblet cell
C. Red blood cell 
D. Smooth muscle cell
17.	Both the cell surface  membrane and membranes within cells;
A. Allow intracellular transport
B. Are stabilized by glycoprotein
C. Have sites for enzyme attachment
D. Protect cells from contents of lysosomes
18.	The site of evaporation during  transpiration in  the leaves is ?
A. Air space
B. Guard cell walls
C. Mesophyll-cell walls 
D. Stomata.
19.	Which disease is not likely to be passed directly from parents to child?
A. Cholera
B. Malaria
C. Sickle-cell anaemia
D. Tuberculosis
20.	Which  process does  not  involve making nitrogen available to plants?
A. Ammonification 
B. Denitrification
C. Nitrification
D. Nitrogen fixation.


21.	Which graph represents the change in concentration of a substrate and its product in the same enzyme –catalysed reaction?
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22.	The role of cholesterol in the cell surface membrane is to;
A. Assist active transport
B. Assist facilitated diffusion
C. Provide hydrophilic channels
D. Regulate fluidity of the membrane
23.	A human body is immune to most of the diseases its mother is immune to. The type of 	immunity is? 
A. Artificial active
B. Artificial passive
C. Natural  active
D. Natural passive 
24.	The role of decomposers in the nitrogen cycle is to? 
A. Convert proteins to ammonium compounds 
B. Fix atmospheric nitrogen
C. Oxidize ammonium compounds to nitrites.
D. Oxidize nitrites to nitrates.


25.	Recombination of unlinked genes would normally occur through
A. Crossing over in prophase I
B. Random chromosome assortment
C. Failure of spindle formation
D. Random gene mutations.
26.	Which of the following would result  in a species if there is increased  mortality?
A. Decrease in emigration
B. Decrease in mortality
C. Increase in natality
D. Decrease in the population
27.	In the first weeks  of pregnancy the developing embryo derives its nourishment from the
A. Chorionic villi
B. Placenta
C. Trophoblastic villi
D. Germ layers.
28.	Which of the following hormones would stimulate internodal elongation?
A. Giberellins 
B. Auxins
C. Cytokins
D. Ethylene 
29.	Reproduction  in the malarial parasite plasmodium would occur by:
A. Binary fission
B. Fragmentation 
C. Multiple fission
D. Sporulation
30.	The ability of  a population to adapt well to changing  environment will depend on?
A. Reproduction potential of its numbers
B. Geographical proximity to other species
C. Availability of vacant  niches.
D. Amount of genetic variation in the population.
31.	Which of the following sets of body parts posses joint capable of bearing heavy loads.
A. Shoulder, elbow and hips
B. Elbow, knees and fingers
C. Wrist, elbows and hips
D. Ankles, shoulders and fingers.
32.	Which of  the follow is a disadvantages of chitin on the arthropod exoskeleton?
A. Toughness 
B. Lightness
C. Flexibility
D. Permeability to water
33.	Urine is produced with minimum or no filtration in 
A. Marine  invertebrates
B. Marine teleosts
C. Terrestrial mammals
D. Fresh water bony fish

34.	Which of the following is  an adaptation to terrestrial life in plants?
A. Production  of the pollen grain
B. Antheridia and archegonia
C. Meiosis and gamete formation
D. Alternation of generation.

35.	The advantage of the multi cellular state is that the individual cells
A. Lose independence
B. Are small in size
C. Become less functional
D.  Become less specialized 

36.	In  endotherms body temperature is maintained constant?
A. At the skin surface 
B. Inside the internal organs
C. At the extremities
D. Between the hairs.

37.	The most efficient group of organisms in body water conservation is;
A. Amphibians
B. Birds
C. Reptiles
D. Mammals.

38.	Which of the following is not a function of  larval forms during animal development?
A. Distribution of species.
B. Feeding and growth
C. Asexual reproduction
D. Sexual reproduction.

39.	Which of the following  phyla consists of organisms that are entirely marine?
A. Echinodermata
B. Mollusca
C. Protozoa
D. Arthropoda

40.	Which of these forces would slow down a gliding bird?
A. Lift
B. Drag
C. Sinking
D. Driving.



SECTION B
41.	The graph shows the effect of light intensity on the rate of photosynthesis.
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(a) .	(i)	What is meant by the term limiting factor?				(2marks)

……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….
	(ii)	State the limiting factor in region A  of the graph.			(1mark)

……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….

(b)    Explain  why there is no further increase in rate of photosynthesis beyond point C.
														(2marks)
………………………………………………………………………………………………………………………………………….
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….
…………………………………………………………………………………………………………………………………………
(c) In plants living in temperate regions the optimum temperature is 25oc.Why does rate of photosynthesis decrease at temperatures above 25oc.		(5marks) 

……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….

42.	(a)	Describe four ways in which gametogeneses differs between human males and 
			females.									(4 marks)
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….
	(b)	Reproduction without a male has evolved in a number of species that live on small islands.  State three advantages and disadvantages of this type of reproduction  in an island habitat?
Advantages:												(3marks)
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….
………………………………………………………………………………………………………………………………………….
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….

Disadvantages 											(3marks)
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….
…………………………………………………………………………………………………………………………………………..

……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….
43.(a)	Explain the importance of  a myelin sheath in the functioning of the neuron.	(3marks)

……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….
(b)	Describe how the release of calcium ions leads to the contraction of asarcomere								(4marks)
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….

(c)	Snake venoms act on the neuromuscular junction leading to loss of muscle function. Explain how the snake venom causes loss of muscle function.			(3marks)
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….
44.	Disruptive selection occurs in one species of rabbit within this population large females mate only with large male and vice versa. Very few intermediate individuals are produced and  have  a low survival rate.
(a)	(i)	Sketch a graph to show the distribution in size of the rabbits as a result of 			disruptive selection.					(3marks)













	(ii)	Explain how disruptive selection has been maintained in this species of rabbit.								(4marks)
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….
………………………………………………………………………………………………………………………………………….……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
(b)	Suggest how two different species of rabbits could have arisen.			(3marks)
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….
45.	(a)	Distinguish between osmoregulation and osmoconformation			(2marks)
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
(b)	(i)	State the roles of osmotic control in animals.					(3marks)
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

	(ii)	State two physiological and two ecological advantages of euryhaline fish over marine fish.
		Ecological  										(2marks)
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….
		Physiological 										(2marks)
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….
(c)	State two ways in which cartilagenous fish prevent excessive loss of water to the sea.
													(1mark)
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
46.	(a)	What is meant by the term endocytosis.						(3marks)
…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
	(b)	How is endocytosis  of importance to living organisms.			(3marks)
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………



	(c)	Why is transport across the cell surface membrane of importance to living organisms?										(4marks)
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….
………………………………………………………………………………………………………………………………………….
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….
………………………………………………………………………………………………………………………………………….
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